(=3 -20 OICHS al C}Il L% ”
2023-2¢}7| AlSioheiel M & CHYIIN A|ZHE
* B7|4Y . HE¥LsE / 0t=d / MFSE0F / 538 / QoA &
* o 37| ZANE F SE2 017 |(=227|M ) A 65t o4 XCH 218t ™MK AMH Tts ©OsFE O12HY Al Xistzul 2eka CHAOA Xl
ot MES2 of st7| 1248 nX| AMH JtsE
* LiEHM ap=o oldifstel NtEo =2 AMaCistlM2 o st7|0 2357 X2t MH Jts
Azt 1A 21A| 34| 41 A SA| 61 A| 71 A 8 A| 9 A| 10 A| 11-1210 4|
12:00-12
[9 9:00-9:50 10:00-10:50 | 11:00-11:50 o 13:00-13:50 | 14:00-14:50 | 15:00-15:50 | 16:00-16:50 | 17:00-17:50 | 18:00-18:50 | 19:00-20:50
LEQI M /of i Ak 2 K| SFLEE /
A X AlEH/1110507/A215 ™S /M mEH/7| 1/1111791/A411
%3 HrAAM /A7 XS A QF SA|XH|E/
el [ e T2{/1110508/A101B S/ AEQIo] AFAHY
= e/ olg/2147] B2 m3l2/ ZX4%/1111726/A310
2118186/A314 Z %] 413t/1110509/A309
ATF7ISD BEI NH/ Rttt
Z26/21M17] 7|5110g A/ HEX| 3 I
KES /AL ST gL/ A o O 3xH/AHiL/712k
7|1/2115011/A309 HHEES /AL A L/412E/2112003/A110 [ SR/ A FESL/7128/2111006/A110
3} |[HRE/23I9 Mum/AHAS/1111779A208/ AH2/7|1S D 231HA/A K AMSH/2116186/A109 | ZBAY/A M AXYAXIASE2116174/A308
-y = A - X/ sEZS|MO|LE/AHME
AT /w37l mE|A/2117014/A310 QA B/ ma| AL /S| AL/2117060/A215 |EH B /s E =24 0|/ dH MY
2116182/A310
AL ﬁg%/—ﬂl%algﬂg}ﬂ-ﬂyﬂ'%‘/ Z1XIAd /7F - i
A4 ZHe| 3| AL/THE
T |2118191/A101B Al /2| 3| AL/THE/2118011/A109
=
i |




MEH & MCHHS & 25 MIHE *

(*3 — A
2023-2%}7| AlSOiStl 7| WA & 7|XMEH -t d
*x BH7|4Y . 1Y/ 59 / O|x=7& / IFZ2E / 24 +
* oF o7 =ZAE F a2 i 7[(=27|M Q) XA 6StH o4 XL 21SH™ANX| AE 7ts 9 D|THY Al etz FHetg D&M H2l)
* e fEdL2 s, WP d1et7|7/4) / sl dmetilst, Ze|u2|AbR2er7|704)
* Heeldd=m11E), F2ALSOI7|714)
* 7|ZES (MDiv.) : AHE, WAL AEAMSIIHE SIE2|01(187] 704) / ZEMSIIHNE, AAHE, 7| S E, E2to{12e7|714)
* Z|EZEH$F (MA) : MAINE, nz|AL AEMSINE@NS Y] 7HY) /7 ZELMEIHE, UM E, 7ISHuKIHEQS7]|714)
* Z|ZMEH . V| XEH WEHESMEZS Mo LIHX| 1bs,
Azt 1A 24| 3IA| 41 A| S5IA| 61 A 7aA| S A| 9 Al 10 A 11-121A]
12:00-12:5
9 9:00-9:50 | 10:00-10:50 | 11:00-11:50 o 13:00-13:50 | 14:00-14:50 | 15:00-15:50 | 16:00-16:50 | 17:00-17:50 | 18:00-18:50 | 19:00-20:50
axs3] x o8| RDSINE/7|/2120100/J202
/HEEIgE h -
r=| /HE kXt /4l ato]1/7|E/2118003/A109
/2118186 LS e/ Fe et HF o
/A314 /71X1/2120078/A113
S} |Z#A/HED} 0|T7|M/2120150/)202 ZUR/7|15E2184/7144/2120151/A109 0| &= /=% LS| 2/7|EH/2118008/A215
HZ/Mlee|duetilsl
CHEl/2118191/A101B
= 21 &M /zha| m 3| Ab/SHE /2118011/A109
O| 2 /7271 2 /7|2 /2118005/A309
=
i |




